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(ܵ)௉ߤ = ௉ܸ ܵܭ௉ + ܵ (ܵ)஼ߤ = ஼ܸ ܵܭ஼ + (ܵ)ோߤ ܵ = ோܸ ܵܭோ + ܵ
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ەۖۖ
۔ۖۖ
ۓۖۖ ሶܺଵ = െߤ௉( ଵܺ)ܺଶ൫ܺଶெ஺௑ െ ܺଶ൯ + ൬ 1ܻோ െ 1൰ ݇ோܺସܺହ + ൬ 1ܻ஼ െ 1൰ ஼(ܺଶ)ܺଷߤ + ൬ 1ܻ஼ െ 1൰ ோ(ܺହ)ܺଷߤ + ݇ௌܺହ + ܸ(ܺ଴ െ ଵܺ)ሶܺଶ = )௉ߤ ଵܺ)ܺଶ൫ܺଶெ஺௑ െ ܺଶ൯ െ 1ܻ஼ ஼(ܺଶ)ܺଷߤ െ ݇௘ܺଶ + ܸ(ܺ଴ െ ܺଶ)                                                                                              ሶܺଷ = ஼(ܺଶ)ܺଷߤ െ ݇ௗܺଷ + ோ(ܺହ)ܺଷߤ + ܸ(ܺ଴ െ ܺଷ)                                                                                                                           ሶܺ ସ = ݇ௗܺଷ + ݇௘ܺଶ െ 1ܻோ ݇ோܺସܺହ + ܸ(ܺ଴ െ ܺସ)                                                                                                                                  ሶܺ ହ = ݇ோܺସܺହ െ 1ܻ஼ ோ(ܺହ)ܺଷߤ െ ݇ௌܺହ + ܸ(ܺ଴ െ ܺହ)                                                                                                                        
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